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INSTRUCTIONS TO CANDIDATES

You should have the following for this examination;

Dirawinge instruments,;

scientific calculator;

Answer hookler,
Fhis paper conxisis of EFGHT guestivns in TWO sections; A and B.
Answer FIVE questions choosing af least TWO questions from section /A
TWE guestions from yection B and ONE guestion from eifher sections.
Al gquestions carry equal marks
Maximum marks for each part of a quesiion are ax sl
Candidates should answer the guestions in English.

This gquestion paper consists of 4 printed pages,

Candidates must check the guestion paper to ascertain thal all
the pages are printed and that no questions are missing.

02000 e Kemver Nasiorod Eramirraiiorns O el Turn over



I (a)
(b}
(e)
2 ()
(h)
@)
3,

B.5=

easyivet.com

SECTION A: SURVEYING |
Anewer af least TWE guestions from this section.
Define the tollowing terms:

{i) contour interval:
{i1} horizontal equivalent:

(i} contour lie. {6 marks)
Onitling two uses of contours, (4 murks)
With the aid of sketches, discuss the two methods of contouring. { 10 marks)

Differentiate between ordinary spirit levelling and precise levelling in lerms of the
stafts used, {6 murks)

With the aid of o sketeh. explain the procedure in reciprocal levelling, (9 marks)

During a reciprocal levelling exercise the following observations were made ot either
sides of the river bank ot point X, 1.470 and 2.52 and a1 point ¥, 0,516 and 2.620 for
point A und B respectively.

Calculite the true difference in level between A and B. (3 miarks)

During Ay levelling, the following notes were taken

.62, 2.05; 1 42, 263 and 2.42 metres

Fs=2.44 135053 and 2.41 metres

The firse back sight was taken on a benchmagk of reduce level 10,00 metres. From the last

B.5 it is nequired to set 4 pegs each ot distance of 30 1!':LiTL:f£JILﬂ ';E:E\EIT%ECT%“T% QLTT ok

oo bl
(i) Reduce the levels using the rise and Tall methods., g-:-
(1) Determine the stafl readings on the pegs. T
(11} Apply the arithmetic check. e "L% - L (20 marks)
'“_E.._'l- .E"'__
4 ) Chutlioe four types of sureys. rz--h%i'l"""l Les YRS | (8 marks)
Tops ol
() Table 1 shows g record of sulT mﬂdlﬁgﬂdéﬂ:ﬁ:;ie; uring a levelling exercise. The fir :-L
reading was taken on a benchmark of rediiced level 100 metres.
(i} Reduce the staff readings using the height n:u{' il meihﬁ{l
(i) Apply all the arithmetic checks, P88 '-rT TJLF (12 marks)
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SECTION B: WORKSHOP TECHNOLOGY |
(MECHANICAL)

Anywer af feast TWE guestions feam iy section

i : servied I workshop.
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Sketch and label a vemnier callipet. =~ it dlbse, ity
lf_.f.,.lff' = Lo “Hur s, Ol
List: :
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(i two causes of fire ina workshop; )
{ii)  two house keeping precautions taken in o workshop,
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EJ'._EIJ:H two disadvantages s of using carburetor in a petrel engine,
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Diefine the ferm priming as use RITTER

Ex .Hm th: workin inciple ol a centraifucal pump,
ol Sorkang prne I;L A gal pum)
Stute four advantages of indirect iyjection for diesel engines.

State any fenr advantages of indirect mjection lor diesel engines,
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ML Describe the following hand mools, stating where cach one is used:
(i) ball peen hammer;
(i) claw hammer:
(iii)  mallet;
(iv)  body huommer. {8 marks)
(b)  State the basic purpose of a file, (1 mark)

fe)  Explain the use of the following punches:

() eenire;
(ii}  prick;

(i) pin {6 marks)
(dy  Stute five factors to be considersd when determining the cormect speed and leed
rates in & lathe maching. (5 marks)
g V (i) Differentiate petral engine from diese] engine. (4 marks)
bl State four components ola reciprocating purnp: Yt Presyee (4 marks)
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(<) L‘!iﬁ:uss four strokc IE: gﬁinc. (12 miarkz)
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